A== =y > X3 Kok = SERFL oD sk | S
ET RBRHEER/NEBEEFEXEEFETH)
HEHH 3/27 wi 3/28 w2 3/29 w3 3/30 w4 3/31 w5
N 223 A 225N 223N 225\ 225\
27| ZZam | BN | B [se| 28 | BE |98 || 28 | BE | B || 28 | BE |8 | 25 | &R | 58 s
=K MoK 3.0 FE 3.0
| axm sk [EF e w28 e
B R
HIES:! 446.0 — &l 225.0 Ed g 30.0 I 10.0
ER 0.1 A 44 2.0 HZEE T 5.0
B 1.0 GBS 2.0 HEEE (=& 7.0
s SEXE |ax 2.0 E2hR 0.2
e gl =
x| BRYEMEE e ot | NEF 1.0 -
X SR ALIER
pol e G B oA
) BT84 45
S8 5L 10
£ 3.0 8285 12 sER=muE (239 9.0 TEE 12.0
SEX (&% (100 AL 4.0 BA 2.0 FKA 7.0
BA 3.0 LRS! 0.2 HEE |E=K 6.0
=l o g |FLEEE] 10 |EE88% |Ex 02 |’'S=&H
. i U5 ) prere . E%\I 7; =
» |BELE =2 0| = s ARE
b3 0.6
INFREE 17.0 3= 18.0 N=ES 17.0 BEER 18.0
5 |SEBRE |75 . aras | TR . - |B# . e | R .
i E TR 0.2 g L 0.2 W = # 0.2 i TR 0.2
EF =8 [3.0 H#Z3 (=8 | 6.0 Rars 223.0 K&/ [E=E | 8.0
REM 3.0 A 2T 3.0 1aie 0.1
= KAZE 1.0 | oo smns Fi 0.1 | Bt 0.2
7 | aws [ 10 | SRS X Tam 20 wmux AEXL
[s]s] 120 123
KR 22917 g [B#me 25Kg
??&‘*E%‘ﬁ 5.5 ?%ﬁ’fﬁ %i 5.4 %E&’fﬁ %i 5.6 %i&’fﬁ%iﬁ 5415 %%TE‘TE_T”
# SRREE 2.9 SRAEE 2.9 SRAEE 2.8 SRAEHE 2.3 SRAEHE
- i 2.9 i 2.2 i 1.8% i 2.9 i
f E?Eﬁi_iﬂiﬁ‘éi“ﬁ 2.5 E?,ﬁi_iﬂiﬂ‘é?éﬁ 2.9 E?@_ﬁﬂiﬁﬁ%ﬁ 2.9 E?@_ﬁﬂiﬁﬁﬁﬁ 2.1 E?@_ﬁﬂiﬁﬁﬁﬁ
% JKR$E JKR$E 1.5 KR KR KR
fEﬁHE?L_u':ﬁ*fE T&HE?@%?E ﬁﬁ'a:?lféiﬁ ﬁﬂ'a:?L_u':&?éE 1&55?'.:_!1‘:!':1%\
MmeE 698Kcal =1 733Kcal ME 737Kcal ME 695Kcal =01 Kcal

ESRTERM

MITHWE -

FE:

RE :




